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INSTRUCTIONS:

¢ Answer each of the following questions in the space provided.
o This is a closed-book exam.

¢ I{ something is not clear, state your assumptions.

* Programmable calculators are not allowed.

e The number of marks for each question is specified next to it.
* The total number of marks is 100.
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Question 1 (25 marks)

The waveform for the current source supplying the following inductor circuit is as shown below
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Determine the equivalent inductance L, as seen at the terminals of the current source.

Determine the expression for the voltage v(7) across the terminals of the equivalent circuit.
Sketch the voltage waveform versus time (label key points).

Determine the energy stored in the equivalent inductive circuit at t = 1.5ms and at t = 4.5ms.
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Question 2 (25 marks)
Consider the following circuit:
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b Calculate vo(f) in the circuit shown if () = 200cos(10°t + 60) mA, i(r) = 100sin( 10% + 90) mA and
v(t) = -10sin{10°t - 30) V.
1 . By how many degrees does v,(£) lag v (£)?

. Sketch the phasor diagram showing V,, V, and V. (label key magnitedes and angles).
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Question 3 (25 marks)

Determine v,{7) in the following circuit.
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Question 4 (25 marks)

Find the phasor current I, in the following circuit.
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